KD-S35

Installation/Connection Manual
Manual de instalacion/conexion

JV

GET0563-002A
]

0508DTSMDTJEIN
EN, SP
© 2008 Victor Company of Japan, Limited

PREPARATIONS

TROUBLESHOOTING

You need the installation kits which corresponds to your car.
« Mark all the check boxes ( ) to make sure you have follow the instructions and the listed parts.

Check the battery system in your car
d + 2 &

Q ®lyy

12V DC, NEGATIVE ground

Prepare this before installation

+ The fuse blows.
* Are the red and black leads connected correctly?

« Power cannot be turned on.
* Is the yellow lead connected?

« No sound from the speakers.

* Is the speaker output lead short-circuited?

« Sound is distorted.

* Is the speaker output lead grounded?

* Are the “—" terminals of L and R speakers grounded in common?
« Noise interfere with sounds.

* Is the rear ground terminal connected to the car’s chassis using shorter and thicker cords?
« This unit becomes hot.

* Is the speaker output lead grounded?

* Are the “~" terminals of L and R speakers grounded in common?
« This unit does not work at all.

* Have you reset your unit?

( )
Parts list for installation and connection

®® © © ®

Hard case/ Sleeve Trim plate Power cord

Control panel

Direct connection Washer (g5) Lock nut (M5) @r Mounting bolt— i)

cable for iPod M4 % 5 mm (M4 x 1/4");

S M5 % 12.5 mm (M5 x 1/2")

Rubber cushion Handles < Remote controller RKSO Battery CR2025
N J
D If you are not sure how to install this unit correctly, consult your JVC car audio dealer.
(y 2

In dash-mounting Removing the unit
Before removing the unit, release the rear section.
SN
(BN
IS
When you stand the unit, be careful Mj Uﬁi}% W
(3] Do the required electrical not to damage the fuse on the rear. had
connections.
@\
) Bend the appropriate tabs
S tohold the sleeve firmly
in place.
When using the optional stay When installing the unit without using the sleeve
In a Toyota car for example, first remove the car radio and install the unit in its place.
Firewall < Stay (option)
//Lé/ Flat type screws * Not supplied for this unit.
) —M5 x 8 mm (M5 x 3/8")*
S Y e
Dashboard |~ ", et — gmm(3/8")  8mm (3/8")
racket : :
| ' j | I:
Screw (option) I >~ Flattype screws 3 D :
Install the unit at an angle of Pocket M5>8 mm (M5 3/87)* (zmz@(amﬂ
less than 30°. Bracket* :

N\ J




ELECTRICAL CONNECTIONS

D Make sure to disconnect the battery’s negative terminal.
« Be sure to ground this unit to the car's chassis again after installation.

Note:

Itis recommended to connect to the speakers with maximum power of more than 50 W (both at the rear and at the front, with an impedance of 4 Q to 8 Q).
If the maximum power is less than 50 W, change “AMP GAIN” setting to prevent the speakers from being damaged (see page 15 of the INSTRUCTIONS).

N \ 1y

C_F

High

Heat sink

%

~

Antenna terminal  Rear line out

Rear ground terminal
|

! Connect only the front speakers if your
: speaker system is two-speaker system.

White with black stripe

Yellow *2

‘© — 15 Afuse
10) [ T
TR e =i iPod connector
t 1
1
,,,,,,,,,,,,,,,,,,,,,,,,, N

@ Tometallichodyor 1.,
chassis of the car

To a live terminal in the

fuse block connecting to the

Front speaker (left) White

Gray with black stripe
' )

Red

@ car battery (bypassing the
ignition switch) (constant
12V)

© —7’

Front speaker (right)  Gray

Green with black stripe

stripe

(3 Toanaccessory terminal in
€
the fuse block

Blue with white

To the remote lead of other

Purple with black stripe
© ®
(+)

Rear speaker (right) ~ Purple

C__|@ equipment or automatic antennaif = El
any (200 mA max.)

Typical connections

PRECAUTIONS on power su

ly and speaker connections

~

Connecting the external amplifiers and/or subwoofer

Remote lead Y-connector *!
L

-
SetI./OMODEto REAR 77777777777777777 Remote lead (blue with white stripe) )
! (See page 15 of the ] ]

! INSTRUCTIONS.) 1 To the remote lead of other equipment
1 or automatic antenna if any

: ifiep || @w=— 12— g

| VC Amplifier @‘« - C@HD—EA,—G@: KD-S35

: g3 3

Rear speakers

1 Front speakers

777777777777777 or

Set “L/0 MODE” to “SUB. W” ‘
i (See page 15 of the INSTRUCTIONS.)

1 Remote lead !

ifiey |- ®*==D—
JVC Amplifier @‘4— [k :

*1 Not supplied for this unit.

*2 Before checking the operation of this unit prior to installation, this lead must be connected, otherwise power cannot be
turned on.

*3 Firmly attach the ground wire to the metallic body or to the chassis of the car—to the place not coated with paint (if
coated with paint, remove the paint before attaching the wire). Failure to do so may cause damage to the unit.

*4 Signal cord (not supplied for this unit).

You can connect an iPod to this unit using the supplied direct connection cable for iPod.

KD-S35

iPod

—=»

Connecting an Apple iPod

iPod is a trademark of Apple Inc., registered in the U.S. and other countries.

Apple iPod (separately purchased)

]
O

Direct connection cable for iPod (supplied)




KD-S35

Installation/Connection Manual
Manual de instalacion/conexion

JV

PREPARATIVOS

LOCALIZACION DE AVERIAS

Utilice los kits de instalacidn que correspondan a su vehiculo.
« Marque todas las casillas ( Iz ) para cerciorarse de que se han sequido las instrucciones, y de tener las piezas mencionadas.

Verifique el sistema de bateria de su vehiculo
d + 2 &

Q ®lyy

12V (C, NEGATIVO a masa

Prepare esto antes de la instalacion

« Elfusible se quema.
* ;Estdn los conductores rojo y negro correctamente conectados?

+ No es posible conectar la alimentacion.
* ;Estd el cable amarillo conectado?

+ No sale sonido de los altavoces.
* jEstd el cable de salida del altavoz cortocircuitado?

« Elsonido presenta distorsion.

* jEstd el cable de salida del altavoz conectado a masa?

* jEstdn los terminales “~" de los altavoces L y R conectados a una masa comiin?

« Perturbacion de ruido.

* jElterminal de tierra trasero estd conectado al chasis del automdvil utilizando los cordones mds corto y mds grueso?
+ Launidad se calienta.

* iEstd el cable de salida del altavoz conectado a masa?

* jEstdn los terminales “~" de los altavoces L y R conectados a una masa comiin?

« Este receptor no funciona en absoluto.

* iReinicializd el receptor?

( )
Lista de piezas para instalacion y conexion
®/® © © ®
Estuche duro/ (ubierta Placa de guarnicion Corddn de
Panel de control alimentacion
0 0 3 & 0 o
" y © & ® QY ® RS QU
(‘.'bl ede conexion Arandela (25) Tuerca de @ ¢ Perno de montaje— }
directa paraiPod sequridad (M5) M4 x5 mm (M4 X 1/4 pulgada);
N M5x12,5mm (M5 x 1/2 pulgada)
© @‘\ ® © w O
Cojin de goma Manijas Control remoto RKSO Pila (R2025
Y
N\ J
D Si usted no estd sequro de cdmo instalar correctamente la unidad, consulte con su concesionario de JVC de equipos de audio para automdviles.
(s 2
Montaje en el tablero Extraccion de la unidad
Antes de extraer la unidad, libere la seccion trasera.
& » ®
o
Y B)
Al poner la unidad vertical, tenga Mj {Eﬁif%
® . . L cuidado de no daniar el fusible ~
Rea//ce' las conexiones eléctricas provisto en la parte posterio.
requeridas.
(5\
\ Doble las lengiietas
N apropiadas para retener
firmemente la manga en
sulugar.
Cuando emplea un soporte opcional Instalacion de la unidad sin utilizar la cubierta
Tabique a prueba En un Toyota por ejemplo, primero retire la radio del automavil y luego instale la unidad en su lugar.
. ; R Soporte (opcidn) o
de ’”fe"dy%/ Tornillos tipo plano— * No suministrado con esta unidad.
T g—0 M58 mm (M5 x 3/8 pulgada)*
Tablero de \ I 8 mm (3/8 pulgada) 8 mm (3/8 pulgada)
instrumentos Meénsula* : : : :
Tornillo (opcidn) / II- / Sl Tornillos tipo plano— : ]: : I:
i ; M5 x 8 mm (M5 x 3/8 pulgada)* )
Instale la un/da(Z aun dngulo Compartimiento puig (mz@(am(]
de menos de 30°. Ménsula* ‘
N\




CONEXIONES ELECTRICAS

D Asegtirese de desconectar el terminal negativo de la bateria.
« Asegiirese de volver a conectar a masa esta unidad al chasis del automovil después de la instalacion.

Nota:

Se recomienda conectar los altavoces con una potencia mdxima de mds de 50 W (tanto atrds como adelante, con una impedancia de 402 a 81)).
Si la potencia mdxima es de menos de 50 W, cambie “AMP GAIN” para evitar dafios en los altavoces (consulte la pdgina 15 del MANUAL DE INSTRUCCIONES).

7
N
Alta e @
W »
Sumidero térmico
( )
Conexiones tipicas Conexion de los amplificadores y/o subwoofer externos
Terminal de
la antena Salida de linea trasera  Terminal de tierra posterior
5\) Cable remoto Conectoren Y *1
REAR ) e
H0) —'_’E — fusiblede 154 | e ‘
OHO) : ! Ajuste “L/0 MODE” a “REAR” 3 Cable remoto (azul con rayas blancas)
| = OO Conector iPod ‘ !
4 ¥ 1 ! (Consulte la pdgina 15 del ;
S ! MANUAL DE INSTRUCCIONES. ) 1 Al conductor remoto de otro equipo o de
3l M 1 : la antena automdtica, i hubiere
2 ! Interruptorde | |:
R Aun cuerpo metdico o encendido
+ Conecte solamente los altavoces - chasis del automavil 1 ;
¢ delanteros si su sistema del altavoz es 1 Amplificador @ oo [(o>:®
: = : KD-S35
ststema del dos-altavoz. Aunterminalactivodel | - Col deJVC O @‘M‘@D C
Blanco con rayas negras Amarillo ® blogue de fusibles conectado I E Altavoces
E:: ) @ala bateria del automévil | => E iraseros
Altavoz delantero Blanco (desviando el interruptor de Col %4 Altavoces delanteros
(izquierdo) encendido) (12 V constantes) — o 0 !
; oque de Dommmmmmiieee 0 ;
; Gris con rayas negras i A o . !
0 —L Rojo A un terminal accesorio del fusibles | Ajuste “L/0 MODE" a “SUB. W ;
| e = bloque de fusibles e (Consulte la pdgina 15 del MANUAL 3
1 Altavoz delantero Gris 1|+ DEINSTRUCCIONES.)
| (derecho) (able remoto
: Azul con rayas 1 1
1 Verde con rayas negras blancas / Al conductor remoto de otro equipo o 1 !
1 _1@ dela antena automtica, si hubiere = E | Amplificador @ L D) ‘
i Altavoz trasero Verde (maX 200 mA) 3 : deJVC R @ o= =[R]
! (izquierdo) ‘

Pirpura con rayas negras

e ® !
@

+ Altavoz trasero (derecho) Ptirpura

: 788
; Lf# y”
! N B

=]
v — '
" N ‘ 47l ' o\
st | L e=38) L
: \/: =~

*1 No suministrado con esta unidad.

*2 Antes de comprobar el funcionamiento de esta unidad previa a de la instalacidn, es necesario conectar este cable, de lo
contrario no se podrd conectar la alimentacién.

*3Fije firmemente el cable de tierra a la carroceria metdlica o al chasis—a un lugar no cubierto con pintura (si estd cubierto
con pintura, quitela antes de fijar el cable). De lo contrario, se podrian producir darios en la unidad.

*4 (able de serial (no suministrado con esta unidad).

Puede conectar un iPod a esta unidad por medio del cable de conexidn directa para iPod suministrado.

KD-S35

iPod

=0

Conexion del Apple iPod

iPod es una marca comercial de Apple Inc., registrada en los EE.UU. y otros paises.

Apple iPod (adquirido separadamente)

(able de conexidn directa para iPod (suministrado)




